EHEFOE 2> 88 Al SUAE 23Hlul

O A7 71202 ol5as 3nat 23/ 2Fe SKT - KB, 3%
2 % 6% 9 234 234 ARE LGU+ 60T 22A) 254 AFL KT
7t A7 BUHoE fElF Ao Uehd

+ ZABHEZ OfIAl : OISTBE 2 B4, SIELIB00M &), PTVVI2AHE)S 34 28t

oM =

<SMAIE SHMHIA EE 7|2 23 (&2 % SHO0|X] HE)>
Q3 SKT-SKB KT LGU+
ol Ll 49,5004 46,2009 46,2009
- (Giga2}0| E) (P17 A BHE) (7|7 FOIE{ ISlim)

D EXFH| (O E ull
SH|(2E ) 3,3008 4,400 3,300
olxtE
IPTV 16,5002 (Btv Hi| 0| XI) 16,5002 (0TV10) 16,3909 (U B &)

MIEFHFA (UHD

A ==(UHD) 9,900 9,900 9,900
olxtE
= o 79,2009 77,000 75,790

« BEAAL H PTV Y £ Z2Hl OjolE HE2F & LFAME|A =AH 40|

O 44 7 §42% dge Ae) msgont &

.‘.:['_
230 T AF A9 o)t 2 Ao ey

<EMA E SBM FBME SN
T2 TE!
cregs | " OIETISH 23H B0l AR SHOISHS S0 12t ol
s 73
KT « ZTSHE O|SHSt 239 SN et ol M3
« 2R3 23F(658908) ARt 1YS J|FOR FsH: HMOIS
LGU+ M) 471 S7HE4E Bolso] HR|E I
X BRI R3H JHYRT O sols o] te

o g =0, olFxl3

: 3
T1,7704' .2 71 A9,

- o]FZs} 32,8909 2 65890 SFAE AR A, LGU+7I ‘92,5109’
oz 4 frelgon

- 65,8909 S=A 234 ZAg Al KT7F ‘114,1809' .2 7 7283k A=
vekd,



e £ A Neaz g0l 3 23

. g 2

S SKT-SKB 144,980 77,770

32,8908 QZ2H / KT 142,780 81,180
28| M s

2ld 2 LGU+ 147,070 84370

N SKT-SKB(2.2G, 46.2% ) 171,600 97,790
0| 5=}

49t Ut Q2F| / KT(2.0G, 43.88 %) 164,780 97,7369
23| Zgt

LGU+(2.3G, 461 2) 172,370 104,226

. g 9

p— SKT-SKB 210,980 127,270

65,8908 Qx| / KT 208,780 114,180%!
23| M S

gd 2 LGU+ 211,970 117,260

: ° o

o= NS SKT-SKB 177,980 102,520

32,8908 & KT 175,780 105,930

65,8908 Qx| /
£ 23|19 Z2¢ LGU+ 178,970 92,510

Hm A 2= XA
0 Bl M2 Sl GIEfUIS S00M S, PV 7|82 J|ZoR oin, Linjx| £7ie
178 SAAR FYNTEI YR SAEoTe) Bl 17H ADIEE DIOE MEEA
EHEzsEEe) 20N X
O (4 7|7) ZANE o4 g
JRIREECH B2 HIZS XHRISI0] 34 o2

Yl
e
1e)
Yo
N
[~
o
w
i
o
0
re
w I
Pl
NI
N
(0]
o]
o
A
I
m
m
=
B -
=
N
i
12
oz

O (Be 9el) TPSE7H 2) & & AHU TV, O|5Het 7t A == HISO| 71
= Lot A W+TV+0| FHE} ZelS 7|22 HIW(SHUAIY Z38d=E7h
<TPs ZgRdE de>
oye QUE{WU+TV QB S+ F T3} QUE{WU+TV FUH™R+TV
= +R s} +0| ST} +0| S M3} +0| SH3}

U= (%) 2538+ 4(37.6%) = 87%F 74(12.9%) | 3332k 7(49.5%) 02k Z4(0.0%)

O (BM 2% BM 2) BBATO| A% 2 o O[SH} 2 S| $£ SKTSKBE
7:

it

O (84H|8) ADIEE 0|8} & 67.8%7F E S4H|E ‘4~69t FE X[ESH= A2
ZAE} Ol ECiZ O|sTe 2EHME 7FS(A0IEE MO|E HEIZAD




